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30. If an iron rl<uie havf. an inclination of 3°, find

the force, acting along tv < lane, necessary to slide a

block of iron of 100 gms. \a) v\ t le flftne, (6) downvthe

plane.

31. The friction of a metal on oak is about 0«5. What
force acting at 30^ upwards will move 100 kgms. of iron

along a level op.k floor?

32. Tht M: ; rles, each 20 feet in length, are joined at

the top, u ' their feet rest at the vertices of an equi-

lateral triangle with side 12 oq level ground, (a) Find

the angle of inclination of each pole. (6) Find the

vertical height of the tops.

33. If, in Ex. 32, 100 lbs. be suspended from the tops

of the poles, find (o) the end pressure on a pole, (6) the

horizontal thrust at the bottom of a pole; the weight

of the pole being not conside|«d.

34. ABC is a triangle of which AB pnd BC are rigid

rods. C is fixed, and A is compelled to move in the

line AC. If a force, p, be pplied to A along AC, show

that the force (a) acting perpendicularly to AC is p
sin C/ Vn'—sin'C; (6) acting along BC is ^ {cos C—
sin'C/ Vn'— sin'C} ; (c) acting perpendicularly to BC
is ^jsin C+sin C cos C / \/»^— sin'Cj, where n is the

ratio AB : BC.

(This exercise embodies the principles ^f the cross-

head and crank in the steam engine.)

35. From the comer of a cuboid a piece is cut off by

a plane saw cut, which reaches to the distances a, b, c

respectively on the three edges. Prove that the area of
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—
the section is —Va*b*-\-f j'-j-c'o*.


